

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

DEP13967

304-558-2157

l	DET TO YOT	L
AD	DRESSICOBRESCONDENI	deriotate (en hiontois
СНИСК	BOWMAN	

RFQ	COPY	
YPE	NAME/ADDRESS	HERE
KEMRO	ON Environmental Ser	rvices. I

5 Craddock Way Poca, WV 25159

ENVIRONMENTAL PROTECTION DEPARTMENT OF **ENVIRONMENTAL REMEDIATION** 601 57TH STREET SE CHARLESTON, WV

25304 304-926-0499

DATE PRIN	TED	TEF	RMS OF SALE	SHII	PVIA	FOB.		FREIGHTTERMS
07/18/								
BID OPENING DATE:	1	<u>08/02/</u>	C DOUGOODO DOUGOOO DOUGOOO	<u>-</u>	BID	OPENING TIME	01	:30PM
LINE	QUAN	VIIIY		NT ITEM N	IUMBER	UNITARICE		AMOUNT
		***********					***************************************	
0001			EA	962-73		·		
0001		1						
	RECLAM	ATION:	RESTORA	ATION OF LA	ND & OTH	ER PROPERTIE	S	
			1 1					
	-u- u-	OT UTD	CTATA	IDCUACTUC T	TUTOTOU	FOR THE ACE		
				•	•	FOR THE AGE		
			1 1	1		TION, IS SOL		
						WARD A CONTR		
			1 7	R AND MATER		1		
				3		UST) AND ASS	ESS-	
				_OCATIONS I				
						REQUIREMENTS		
						REAS OF COVE	RAGE,	
	AND GE	NEKAL	CONDILL	DNS PER THE	ATTACHE	μ.		
	IT IS	PREFER	RED THAT	ALL CERTI	FICATES	REQUIRED PRI	OR	
						CONTRACT BE		
				SSFUL VENDO	R WITHIN	48 HOURS OF	THE	
	INITIA	L REQU	EST.					
	EVILIBIE	т 7.						
	EXHIBI.	1 3:			•			
	I TEE O	F CONT	RACT:	THIS CONTR	ACT BECO	MES EFFECTIV	F	
				NDS FOR A		•	-	
	i			1		HEREAFTER AS	IS	
	l'			A NEW CONT			1	
	1		1 1	B .		ME" PERIOD S		
				2) MONTHS.		THIS "REASO		
	I TWE.	THE VE	NUUK MAY	LEKMINATE	B VE BILB	NTRACT FOR A CHASING 30 D	NY	
	KEASUN WRITTEI			UE DIKECIO	א טר דטא	CUNSTAR OF D	ATS	
	MIXTI IEI	N NUIL	C.					
A								
	,		// SE	EREVERSE SIDE FOR	terri en les le	****************	Jan	
SIGNATURE	lleine	61.	muit		TELEPHONE (3	04) 755-0999	DATE 0	8/07/07
Regional Mar		/ FE	11-239397	3		· ADDRESS C	HANGES	TO BE NOTED ABOVE



VENDOR

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130
Charleston, WV 25305-0130

Request for Quotation

DEP13967

PAGE

ADDRESS: CORRESPONDENCE: TO ATTENTION OF

CHUCK BOWMAN 304-558-2157

RFQ COPY
TYPE NAME/ADDRESS HERE
KEMRON Environmental Services, Inc.
5 Craddock Way

Poca, WV 25159

ENVIRONMENTAL PROTECTION
DEPARTMENT OF
ENVIRONMENTAL REMEDIATION
601 57TH STREET SE
CHARLESTON, WV
25304 304-926-0499

07/18/20		INVOCIT SALE	3/10 4/15		FREIGHT HUMBS
BID OPENING DATE:	08/02	/2007	BID	OPENING TIME	01:30PM
LINE	QUANTITY	UOP CAT.	ITEM:NUMBER	UNIT PRICE	AMOUNT
IN PR	THIS CON	TRACT DOCUM	IONS ARE STIPULA ENT, THE TERMS, FIRM FOR THE LI	CONDITIONS AND	
WR SU DA BE OR	ITTEN CON BMITTED T YS PRIOR IN ACCOR	SENT OF THE D THE DIREC TO THE EXPI DANCE WITH NTRACT AND	MAY BE RENEWED SPENDING UNIT A TOR OF PURCHASIN RATION DATE. SU THE TERMS AND CO SHALL BE LIMITED	ND VENDOR, G THIRTY (30) CH RENEWAL SHAL NDITIONS OF THE	L
RI NO SU	GHT TO CA TICE TO T PPLIED AR	NCEL THIS C HE VENDOR I E OF AN INF	CTOR OF PURCHASI ONTRACT IMMEDIAT F THE COMMODITIE ERIOR QUALITY OR OF THE BID AND C	ELY UPON WRITTE S AND/OR SERVIC DO NOT CONFORM	N ES
AU MA ES IM CA PO	THORIZE A RKET, WIT TIMATE, I MEDIATE D USES (INC	SPENDING UHOUT THE FITEMS SPECIFELIVERY IN	E DIRECTOR OF PU NIT TO PURCHASE LING OF A REQUIS IED ON THIS CONT EMERGENCIES DUE NOT LIMITED TO D CIPATED INCREASE	ON THE OPEN ITION OR COST RACT FOR TO UNFORESEEN ELAYS IN TRANS-	
AP TH TH OR	PROXIMATION E STATE SOME AT THE COUNTY DERED FOR	DNS ONLY, B PENDING UNI TRACT SHAL DELIVERY D DR LESS T	LISTED IN THE RASED ON ESTIMATE T. IT IS UNDERS L COVER THE QUAN URING THE TERM O HAN THE QUANTITI	S SUPPLIED BY TOOD AND AGREED TITIES ACTUALLY F THE CONTRACT, ES SHOWN.	
IGNATURE	wist of (ruik	VERSE SIDE FOR TERMS AND CON TELEPHONE (30		^E 08/07/07
Regional Manager		11-2393978	,	ADDRESS CHANG	ES TO BE NOTED ABOVE



VENCOR

State of West Virginia
Department of Administration
Purchasing Division
2019 Washington Street East
Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

DEP13967

ADI	Dress:Cohnesponden	CESTO:ATHENHON OF
CHUCK	BOWMAN	
304-55	58-2157	

RFQ COPY TYPE NAME/ADDRESS HERE KEMRON Environmental Services, Inc.

5 Craddock Way Poca, WV 25159 **ENVIRONMENTAL PROTECTION** DEPARTMENT OF **ENVIRONMENTAL REMEDIATION** 601 57TH STREET SE CHARLESTON, WV 25304 304-926-0499

07/18/	**************	HEP-	IMS OF SALE	SHP	VIII	F O H		FREIGHT TEHMS
ID OPENING DATE:		08/02/	2007		BID	DPENING TI	ME O	1:30PM
LINE	QUAN	VIIIY	UOP CA	T ITEM NU	MBER	UNITPR	ICE	AMOUNT
	FOR BA CALLY ORDER. THE TE SHALL	NKRUPT NULL A RMS AN SUPERS	CY PROTE ND VOID, D CONDIT EDE ANY	EVENT THE VICTION, THIS AND IS TER	CONTRACEMINATED NED IN SEQUENT	CT IS AUTO WITHOUT F THIS CONTR TERMS AND	OMATI- FURTHER RACT	
	DOCUME AGREEM	NTS SU ENTS O	CH AS PR R MAINTE EDIUM SU	APPEAR ON LICE LISTS, NANCE AGREECH AS CD-RO	ORDER FO	DRMS, SALE INCLUDING	S	
			VENDOR	PREFERENCE	CERTIFIC	WATE .		
	PREFER	ENCE I	N ACCORD	PLICATION* ANCE WITH W PLY TO CONS	EST VIR	SINIA CODE	,	
	A. API Reason			ADE FOR 2.5	% PREFE	RENCE FOR	THE	
	HAS RE	SIDED ARS IM	CONTINUO MEDIATEL	NDIVIDUAL R USLY IN WES Y PRECEDING	T VIRGI	NIA FOR FO	UR	
	TION RI QUARTEI WEST V	ESIDEN RS OR IRGINI	T VENDOR PRINCIPA A FOR FO	RTNERSHIP, AND HAS MA L PLACE OF UR (4) YEAR TIFICATION;	INTAINEI BUSINESS S IMMED	D ITS HEAD S CONTINUC LATELY PRE)- DUSLY II ECEDING	
	INTERES PARTNES	ST OF RSHIP,	BIDDER I ASSOCIA TAINED I	S HELD BY A TION OR COR TS HEADQUAR	NOTHER DEPORATION	INDIVIDUAL N RESIDENT PRINCIPAL	., VENDO	
IGNATURE /	1, ,		Z · /	REVERSESIDEFORT	Tres entione	инома (4) 755-0999	DATE	08/07/07
ITLE Regional Mar	<u>lleug</u>		11-239397	'A	1 (30			S TO BE NOTED ABOVE



#ZOO#

TLE

Regional Manager

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for REGINUMBER Quotation

DEP13967

PAGE

4

······································	JHESS:CUHHI	-SHOWNE MARKON WITH RIVE	HONOR
CHUCK	BOWMAN		
304-55	8-2157		

RFQ COPY TYPE NAME/ADDRESS HERE KEMRON Environmental Services, Inc. 5 Craddock Way

Poca, WV 25159

ENVIRONMENTAL PROTECTION DEPARTMENT OF **ENVIRONMENTAL REMEDIATION 601 57TH STREET SE** CHARLESTON, WV 25304 304-926-0499

TERMS OF SALE DATE PRINTED SHIP VIA FØB. FREIGHTTERMS 07/18/2007 BID OPENING DATE: 08/02/2007 BID OPENING TIME 01:30PM LINE QUANTITY UOP ITEM NUMBER UNIT PRICE AMOUNT OF BUSINESS CONTINUOUSLY IN WEST VIRGINIA FOR FOUR (4) YEARS IMMEDIATELY PRECEDING THE DATE OF THIS CERTIFICATION; OR BIDDER IS A CORPORATION NONRESIDENT VENDOR WHICH HAS AN AFFILIATE OR SUBSIDIARY WHICH EMPLOYS A MINIMUM OF ONE HUNDRED STATE RESIDENTS AND WHICH HAS MAINTAINED ITS HEAQUARTERS OR PRINCIPAL PLACE OF BUSINESS WITHIN WEST VIRGINIA CONTINUOUSLY FOR THE FOUR (4) YEARS IMMEDIATELY PRECEDING THE DATE OF THIS CERTIFICATION. APPLICATION IS MADE FOR 2.5% PREFERENCE FOR THE REASON CHECKED: BIDDER IS A RESIDENT VENDOR WHO CERTIFIES THAT, DURING THE LIFE OF THE CONTRACT, ON AVERAGE AT LEAST 75% OF THE EMPLOYEES WORKING ON THE PROJECT BEING BID ARE RESIDENTS OF WEST VIRGINIA WHO HAVE RESIDED IN THE STATE CONTINUOUSLY FOR THE TWO YEARS IMMEDIATELY PRECEDING SUBMISSION OF THIS BID; OR BIDDER IS A NONRESIDENT VENDOR EMPLOYING A MINIMUM OF ONE HUNDRED STATE RESIDENTS OR IS A NONRESIDENT VENDOR WITH AN AFFILIATE OR SUBSIDIARY WHICH MAINTAINS ITS HEADQUARTERS OR PRINCIPAL PLACE OF BUSINESS WITHIN WEST VIRGINIA EMPLOYING A MINIMUM OF ONE HUNDRED STATE RESIDENTS WHO CERTIFIES THAT, DURING THE LIFE OF THE CONTRACT, ON AVERAGE AT LEAST 75% OF THE EMPLOYEES OR BIDDERS' AFFILIATE'S OR SUBSIDIARY'S EMPLOYEES ARE RESIDENTS OF WEST VIRGINIA WHO HAVE RESIDED IN THE STATE CONTINUOUSLY FOR THE TWO YEARS IMMEDIATELY PRECEDING SUBMISSION OF THIS BID. BIDDER UNDERSTANDS IF THE SECRETARY OF TAX & REVENUE DETERMINES THAT A BIDDER RECEIVING PREFERENCE HAS SEE REVERSE SIDE FOR TERMS AND CONDITIONS IGNATURE TELEPHONE

rus

11-2393978

(304) 755-0999

08/07/07

ADDRESS CHANGES TO BE NOTED ABOVE



#200#

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

RECINUMBER DEP13967

5

ADDRESS CORRE	SPONDENCE TO ATTENTION OF
•	
CHUCK BOWMAN	
304-558-2157	

RFQ COPY TYPE NAME/ADDRESS HERE KEMRON Environmental Services, Inc.

5 Craddock Way Poca, WV 25159

ENVIRONMENTAL PROTECTION DEPARTMENT OF **ENVIRONMENTAL REMEDIATION 601 57TH STREET SE** CHARLESTON, WV 25304 304-926-0499

TERMS OF SALE FREIGHTTERMS DATE PRINTED SHIP VIA FOB. 07/18/2007 3ID OPENING DATE: 08/02/2007 **BID OPENING TIME** 01:30PM QUANTITY ITEM NUMBER UNIT PRICE AMOUNT LINE UOP FAILED TO CONTINUE TO MEET THE REQUIREMENTS FOR SUCH PREFERENCE, THE SECRETARY MAY ORDER THE DIRECTOR OF PURCHASING TO: (A) RESCIND THE CONTRACT OR PURCHASE ORDER ISSUED; OR (B) ASSESS A PENALTY AGAINST SUCH BIDDER IN AN AMOUNT NOT TO EXCEED 5% OF THE BID AMOUNT AND THAT SUCH PENALTY WILL BE PAID TO THE CONTRACTING AGENCY OR DEDUCTED FROM ANY UNPAID BALANCE ON THE CONTRACT OR PURCHASE ORDER. BY SUBMISSION OF THIS CERTIFICATE, BIDDER AGREES TO DISCLOSE ANY REASONABLY REQUESTED INFORMATION TO THE PURCHASING DIVISION AND AUTHORIZES THE DEPARTMENT OF TAX AND REVENUE TO DISCLOSE TO THE DIRECTOR OF PURCHASING APPROPRIATE INFORMATION VERIFYING THAT BIDDER HAS PAID THE REQUIRED BUSINESS TAXES, PROVIDED THAT SUCH INFORMATION DOES NOT CONTAIN THE AMOUNTS OF TAXES PAID NOR ANY OTHER INFORMATION DEEMED BY THE TAX COMMISSIONER TO BE CONFIDENTIAL. UNDER PENALTY OF LAW FOR FALSE SWEARING (WEST VIRGINIA CODE 61-5-3), BIDDER HEREBY CERTIFIES THAT THIS CERTIFICATE IS TRUE AND ACCURATE IN ALL RESPECTS; AND THAT IF A CONTRACT IS ISSUED TO BIDDER AND IF ANYTHING CONTAINED WITHIN THIS CERTIFICATE CHANGES DURING THE TERM OF THE CONTRACT, BIDDER WILL NOTIFY THE PURCHASING DIVISION IN WRITING IMMEDIATELY. KEMRON Environmental Services, Inc. BIDDER: 08/07/07 DATE: SIGNED: SEE REVERSE SIDE FOR TERMS AND CONDITIONS IGNATURE (304) 755-0999 08/07/07 ADDRESS CHANGES TO BE NOTED ABOVE 11-2393978 Regional Manager



2002m<

State of West Virginia Department of Administration Purchasing Division 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

DEP13967

PAGE

Raddressicorrescondencestovarientionices

CHUCK BOWMAN 304-558-2157

RFQ COPY
TYPE NAME/ADDRESS HERE
KEMRON Environmental Services, Inc.

5 Craddock Way Poca, WV 25159 ENVIRONMENTAL PROTECTION DEPARTMENT OF ENVIRONMENTAL REMEDIATION 601 57TH STREET SE CHARLESTON, WV

25304 304-926-0499

DATE PRIN	TED T	RMS OF SALE	SHIP VIA	FOB.	FREIGHT TERMS
07/18/					
BID OPENING DATE:	08/02	/2007	BID	OPENING TIME	01:30PM
LINE	QUANTITY	UOP CAT	ITEM NUMBER	UNITPRICE	AMOUNT
				·	
			Pagional Managar		
		TITLE	Regional Manager		
					(
			ON OF PREFERENCE)
			OR BOTH "A" AND	1	
			VE. YOU MAY REQU FOR BOTH "A" AND		
	(REV. 12/00	1 3	I OK DOTTI A AND		
		NO.	TICE		
	AN ODTOTAL	STONED B	ID MUST BE SUBMIT	TED TO.	
	AN URIGINAL	, SIGNED D.	THE MOST BE SOBULT	IED 10:	
	DEPART	MENT OF ADI	INISTRATION		
		SING DIVIS:	ION		
	BUILDI	1 1			
			STREET, EAST		·
	CHARLE	STON, WV 2	2202-0120		
	THE BID M	UST CONTAIN	THIS INFORMATIO	N ON THE FACE O	F
	THE ENVELOP		ID MAY NOT BE C		
	·			•	
	SEALED BID		•		
•					
	BUYER:		CB-23		
	RFQ. NO.:		DEP13967		
	DID ODENIUS	DATE	00'/02/2007		
	BID OPENING	DATE:	08/02/2007		
ı	BID OPENING	TIME:	1:30 PM		
!					
A		SEER	VERSE SIDE FOR TERMS AND COL		
IIGNATURE	evies 1.	heid	TELEPHONE (3	04) 755-0999 PAT	E 08/07/07
πLE Regional M		FEIN 11-2393978		ADDRESS CHANG	ES TO BE NOTED ABOVE



State of West Virginia Department of Administration **Purchasing Division** 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

RFO NUMBER DEP13967

CHUCK BOWMAN 304-558-2157

HODGE

RFQ COPY TYPE NAME/ADDRESS HERE KEMRON Environmental Services, Inc. 5 Craddock Way

Poca, WV 25159

ENVIRONMENTAL PROTECTION DEPARTMENT OF **ENVIRONMENTAL REMEDIATION** 601 57TH STREET SE CHARLESTON, WV 25304 304-926-0499

DATE PRINTED	******	TEF	MS OF SA	LE		SHIP VIA			FO.B.		FREIGHTTERMS
07/18/20 IID OPENING DATE:	<u> </u>	08/02/	2007				BID	OPE	NING TIME	01	.:30PM
LINE	QUA	NTITY	UOP	CAT NO	п	TEM:NUME			UNIT PRICE		AMOUNT
PL TO	CON	PROVI	OU RE	FAX N	UMBER NG YO	IN C UR BI	ASE IT D:	IS	NECESSARY		
co		Christophe				T CL E	ARLY):				
**	***	· THIS	IS T	HE EN	D OF I	RFQ	DEP13	967	***** TO	TAL:	\$255,452.80
			·								
IGNATURE	•		9.	SEERE	ERSE SIDE		MS AND CON			DATE	
Alee	iwy	<u> </u>	Au				(30)4) 7 !			08/07/07
Regional Manag	er '		11-23	93978					ADDRESS CHA		TO BE NOTED ABOVE



State of West Virginia Department of Administration **Purchasing Division** 2019 Washington Street East Post Office Box 50130 Charleston, WV 25305-0130

Request for Quotation

P

J

SHIP VIA

RFQ NUMBER DEP13967

FREIGHT TERMS

CHUCK BOWMAN 304-558-2157

*709002252 04 304-755-0999 KEMRON ENVIRONMENTAL SERVICES **#5 CRADDOCK WAY** ROCK BRANCH INDUSTRIAL PARK POCA WV 25159

TERMS OF SALE

ENVIRONMENTAL PROTECTION DEPARTMENT OF ENVIRONMENTAL REMEDIATION 601 57TH STREET SE CHARLESTON, WV 25304 304-926-0499

FOB.

ADDRESS:CORRESPONDENCE TO ATTENTION OF

DATE PRINTED 07/26/2007 08/07/2007 $\mathtt{BID'}$ OPENING TIME 01:30PM BID OPENING DATE: AMOUNT LINE QUANTITY UOP ITEM NUMBER UNIT PRICE NO ***** ***** ADDENDUM NO. 1 ************* ADDENDUM ISSUED FOR UST REMOVAL IN CENTRAL COUNTIES OF WV TO CORRECT PAGE #16 OF THE SPECIFICATIONS. PAGE 16 CORRECTS LINE ITEM DESCRIPTIONS #14, 15, & 16 TO CORRECTLY MATCH LINE ITEMS #14, 15, & 16 ON THE BID SCHEDULE. PLEASE REPLACE THE ORIGINAL PAGE 16 OF THE SPECIFICATIONS WITH REVISED PAGE 16 AS ATTACHED. AN ADDITIONAL NOTE TO THOSE WHO DOWNLOADED THE REQ FROM THE PURCHASING DIVISION WEBSITE: THE RFQ HAS BEEN RE-SCANNED IN ITS ENTIRETY AS SOME PAGES WERE OMITTED IN THE ORIGINAL SCAN. THE RFQ WAS COMPLETE FOR THOSE WHO WERE MAILED A HARD COPY. DUE TO THESE CHANGES AND REVISIONS, THE BID OPENING DATE HAS BEEN EXTENDED FROM 08/02/07 TO 08/07/07. OPENING TIME REMAINS 1:30 PM. **************** NO OTHER CHANGES SEE REVERSE SIDE FOR TERMS AND CONDITIONS SIGNATURE DATE 08/07/07 (304) 755-0999 ADDRESS CHANGES TO BE NOTED ABOVE 11-2393978 Regional Manager

PURCHASING CONTINUATION SHEET

CB-23 DEP13967 Spending Unit: WVDEP/DLR/OER

UST Removal -- Central WV

ltem No.	Quantity	Description	Unit Price	Amount
1	6,000	Removal and proper disposal of petroleum contaminated water, rinsate and/or product. (per gallon)	\$0.46	\$2,760.00
2	500	Transportation of petroleum contaminated water, rinsate and/or product to disposal facility (per mile)	\$3.29	\$1,645.00
3	12	Purge vapors from UST to <10% LEL. (per tank)	\$418.00	\$5,016.00
4	12	Excavate and extract UST / piping from the ground. (per 1000 gallon tank volume)	\$1,635.00	\$19,620.00
5	12	Cut openings in UST and clean sludges from them. (per tank)	\$439.50	\$5,274.00
6	12	Dispose / scrap cleaned UST. (per tank)	\$108.00	\$1,296.00
7	12	Disposal of tank-cleaning sludges. (per drum)	\$297.00	\$3,564.00
8	300	Segregate obviously contaminated vs. non- contaminated soils and stockpile contaminated soils/debris on-site on 6 mil black plastic and cover with 6 mil black plastic. (per ton)	\$7.91	\$2,373.00
9	300	Disposal of petroleum-contaminated soil at a state approved landfill Unit price includes landfill tipping fees and etc. (per ton)	\$45.36	\$13,608.00
10	300	Petroleum Contaminated Soil Treatment at an Incineration or Bioremediation Facility. Unit price includes tipping fees and etc. (per ton)	\$45.68	\$13,704.00
11	100	Proper disposal of nonhazardous materials such as broken concrete slabs, piping & etc. (per ton)	\$24.85	\$2,485.00
12	100	Backfill excavations with crusher run. (per ton)	\$23.76	\$2,376.00
13	12	Mobilization and demobilization. (lump sum per site)	\$432.00	\$5,184.00
14	500	Asphalt disturbed excavation area. (per sq. ft)	\$39.96	\$19,980.00
15	100	Concrete disturbed excavation area (per cu. yd.)	\$151.20	\$15,120.00
16	500	Cutting and removal of asphalt or concrete (per sq. ft)	\$15.12	\$7,560.00
17	5	Fill UST with concrete slurry (per 1000 gallon tank volume)	\$783.00	\$3,915.00

				Mary .
18	5	Fill UST with inert foam material (per 1000 gallons tank volume)	\$783.00	\$3,915.00
19	12	Direct Push Equipment (per day)	\$1,510.40	\$18,124.80
20	500	Direct Push Temporary Groundwater Sampler (per linear foot)	\$0.32	\$160.00
21	500	Direct Push Prepack well screen 1.4 inches OD (per linear foot)	\$13.93	\$6,965.00
22	500	Direct Push Prepack well screen 2.5 inches OD (per linear foot)	\$16.04	\$8,020.00
23	12	Low Flow Sampling Equipment (per day)	\$523.00	\$6,276.00
24	500	Well Abandonment-2 inch wells (per linear foot)	\$1.08	\$540.00
25	500	Well Abandonment-4 inch wells (per linear foot)	\$3.24	\$1,620.00
26	500	Borehole (and Corehole) abandonment (per linear foot)	\$3.45	\$1,725.00
27	10	IDW Disposal (per drum)	\$85.50	\$855.00
28	25	Dot 17-C Drums (each)	\$32.00	\$800.00
29	100	Laborer (per hour)	\$116.00	\$11,600.00
30	10	Enhanced Fluid Recovery (EFR) (per day)	\$2,130.00	\$21,300.00
31	12	Complete Reports ans Submittal (each)	\$575.00	\$6,900.00
32	200	Hollow Stem Auger for 2 inch well (per linear ft.)	\$39.65	\$7,930.00
33	200	Hollow Stem Auger for 4 inch well (per linear ft.)	\$45.00	\$9,000.00
34	200	Installation of 2 inch monitoring well (per linear ft.)	\$23.30	\$4,660.00
35	200	Installation of 4 inch monitoring well (per linear ft.)	\$38.40	\$7,680.00
36	10	Backhoe Loader Cat 416 type or equivalent (per day)	\$864.00	\$8,640.00
37	200	, Reclaim disturbed areas (per sq ft.)	\$1.00	\$200.00
38	100	Oxygen Releasing Compound Advanced Powder or equivalent (per lb.)	\$17.00	\$1,700.00

39	100	Reactivated Carbon (per lb.)	\$0.95	\$95.00
40	100	Spent Carbon Disposal (per lb.)	\$0.17	\$17.00
41	10	Combustible Gas/Oxygen Meter (per day)	\$50.00	\$500.00
42	10	Organic Vapor Analyzer (PID) (per day)	\$75.00	\$750.00

TOTAL =

\$255,452.80

Chuck Bowman
Purchasing Division
Building 15
2019 Washington Street, East
Charleston, WV 25305

Inquires concerning this RFQ shall be directed to:

(304) 558-2157 - Phone (304) 558-4115 - Fax

STATE OF WEST VIRGINIA Purchasing Division

- . (125

PURCHASING AFFIDAVIT

West Virginia Code §5A-3-10a states: No contract or renewal of any contract may be awarded by the state or any of its political subdivisions to any vendor or prospective vendor when the vendor or prospective vendor or a related party to the vendor or prospective vendor is a debtor and the debt owned is an amount greater than one thousand dollars in the aggregate

DEFINITIONS:

"Debt" means any assessment, premium, penalty, fine, tax or other amount of money owed to the state or any of its political subdivisions because of a judgment, fine, permit violation, license assessment, defaulted workers' compensation premium, penalty or other assessment presently delinquent or due and required to be paid to the state or any of its political subdivisions, including any interest or additional penalties accrued thereon.

"Debtor" means any individual, corporation, partnership, association, limited liability company or any other form or business association owing a debt to the state or any of its political subdivisions. "Political subdivision" means any county commission; municipality; county board of education; any instrumentality established by a county or municipality; any separate corporation or instrumentality established by one or more counties or municipalities, as permitted by law; or any public body charged by law with the performance of a government function or whose jurisdiction is coextensive with one or more counties or municipalities. "Related party" means a party, whether an individual, corporation, partnership, association, limited liability company or any other form or business association or other entity whatsoever, related to any vendor by blood, marriage, ownership or contract through which the party has a relationship of ownership or other interest with the vendor so that the party will actually or by effect receive or control a portion of the benefit, profit or other consideration from performance of a vendor contract with the party receiving an amount that meets or exceed five percent of the total contract amount.

EXCEPTION: The prohibition of this section does not apply where a vendor has contested any tax administered pursuant to chapter eleven of this code, workers' compensation premium, permit fee or environmental fee or assessment and the matter has not become final or where the vendor has entered into a payment plan or agreement and the vendor is not in default of any of the provisions of such plan or agreement.

LICENSING: Vendors must be licensed and in good standing in accordance with any and all state and local laws and requirements by any state or local agency of West Virginia, including, but not limited to, the West Virginia Secretary of State's Office, the West Virginia Tax Department, West Virginia Insurance Commission, or any other state agencies or political subdivision. Furthermore, the vendor must provide all necessary releases to obtain information to enable the Director or spending unit to verify that the vendor is licensed and in good standing with the above entities.

CONFIDENTIALITY: The vendor agrees that he or she will not disclose to anyone, directly or indirectly, any such personally identifiable information or other confidential information gained from the agency, unless the individual who is the subject of the information consents to the disclosure in writing or the disclosure is made pursuant to the agency's policies, procedures and rules. Vendors should visit **www.state.wv.us/admin/purchase/privacy** for the Notice of Agency Confidentiality Policies.

Under penalty of law for false swearing (West Virginia Code, §61-5-3), it is hereby certified that the vendor acknowledges the information in this said affidavit and are in compliance with the requirements as stated.

Vendor's Name:	KEMROU	Environmantal	Services In	õc.	
 		S. of mich		Date: <u>08/07</u>	67
-		7			

Purchasing Affidavit (Revised 04/15/07)

													RE	Q.P.C)#			
	•			•		•	1	BID BOND	j				•		-	 f	; a_9; a	·
	KNOW	ALL	MEN E	Y THE	SE PRE	SENTS,		he undersig										
CO.	_ of	FW V	OPE	T ATK	GINIA	_,				_, es l	Princip	al, ar	od NE	W HAI	MPSHI	RE :	INSU	RANCE
	01	77.44 7	OKK,		EOKK.			_, a corpora	ation org	ganizi	ed and	exis	ling u	nder th	e laws	of the	e Stat	e oPA
		WIL	11 115 111	0111111111	311 H H	IDP L.KV C	YT FILLIA	1/1:1:1:1 A		(~ · · · ·							
OI VV ESI	viigima,	as O	ongee,	, in the j	penai su	m of				(\$	5,00	0		1	for the			
well and	i iruiy to	DE M	30 e, Wi	i jointly	and sev	erally bin	id ourselv	es, our heir	s, admii	nistra	ilors, e	XECU	lors, s	ucces	sors ar	nd ass	signs.	
•	The Co	ndilio	n of the	a abone	nhlianti.	~= i~ ~	L 11					•						
Denadir	eni of A	imini	etration	: abbve	in hid o		n insi whe	ereas the Pr	incipal	has s	ubmit	ed lo	the P	urchas	sing Se	ection	of the	2
DEL	13907	KEM	UVAL	OF U	NDEKGI	KOUND S	STORAGI	d herelo an E TANKS	d made	a pa ASSE	rt here SSME	of, to NTS	AT .	into a DIFFE	contra ERENT	act in '	writin	g for
LOCA	TIONS	IN	CENT	RAL W	EST V	RGINI	<u> </u>		•	-								
				·														
	NOW TH	KERE	FORE															•
	(a) If sa	id bic	shall	be reied	ted. or											-		
gieeme orce and	ni create l effect. I	d by t	he acc xpress	eplanc ly unde	e of said	hid ther	e required I this oblig I that the	l enter into I by the bid pation shall liability of th	or prop	osai,	and si	nall in	allol	her res	spects	perio	rm th	ė
- 1	The Sure ired or a ice of an			.,	eived, h	ereby slip the time v	pulateș ar within whi	nd agrees th ch the Oblig	at the c ee may	obliga y acce	itions (ept su	of sai ch bio	d Sur I, and	ely and said S	d its bo Surety (ind sh Joes I	nall be hereb	ein no y
. 1	N WITH	ESSV	VHER	EOF, P	incipal a	ind Suret	y have he	reunio sel t	heir hai	nds a	ınd se:	ale a	חל ביי	-h of 11	·			
ive cana	ed their	согра	rale se	eals lo l	oe affixed	d hereunt	o and the	se presents	to be s	sione	d by th	eir ni	יום אויי		- thin	are	согро	ralions
<u>.26</u> d	ay of	JULY				20 <u>07</u> .		·		J	J	Р	орси	31110613	5, 11115			
										•								
ncipal (Corporate	Sea	İ			•		•	K	EMR	ON E	NVIE	MINOS	ENTAL	SER	VICE	ES,	INC.
									Ву	, (6	.)(Warm		ncipal	<u> </u>		
						•					C	,	Vice F	reside	-			
				•					•		VIC	E f			NT	- F	FA	
ily Cor	porale S	eal			•				NF	EW H	AMPS	HTRF	•	Fille) STIRAN	ICE C	0		
									-1					of Sur		-	-	·····
		•					i					٠.		1	-,51			

RTANT – Surety executing bonds must be licensed in West Virginia to transact surety insurance. Corporate seals must be affixed, er of attorney must be attached

GENE DEVINE

Attorney-in-Fact

New Hampshire Insurance Company

Principal Bond Office:

70 Pine Street.

New York, New York 10270

POWER OF ATTORNEY

KNOW ALL MEN BY THESE PRESENTS:

That New Hampshire Insurance Company, a Pennsylvania corporation does hereby appoint

-Gene P. Devine: of Rockville Centr, New York-

Its true and lawful Attorney(s)-in-Fact, with full authority to execute on its behalf bonds, undertakings, recognizances and other contracts of indemnity and writings obligatory in the nature thereof, issued in the course of its business, and to bind the company thereby in the maximum amount of \$15,000,000,000 per bond undertaking, recognizance and other contract of indemnity. This Power of Attorney shall remain in full force and effect until the expiration of one year from the issued date. above-referenced.

IN WITNESS WHEREOF New Hampshire Insurance Company has individually executed these presents

This 2nd day of March, 2007

Robert II. Staples, Vice President

State of Pennsylvania County of Philadelphia ss.

On this 2nd day of March, 2007, before me came the above-named officer of New Hampshire Insurance Company, to me personally known to be the individual and officer described herein, and acknowledged that he executed the foregoing instrument and affixed the seals of said corporation thereto by authority of his office.

COMMONWEALTH OF FENNSYLVANIA

NOTARIAL SEAL

City of Philadelphia, Phila. County

CERTIFICATE Excerpts of Resolution adopted by the Board of Directors of the New Hampshire Insurance Companies December 1975 (1985 March 28, 2009

"RESOLVED, that the Chairman of the Board, the President, or any Vice President be, and hereby is, authorized to appoint Attorneys in Pact to represent and act for and on behalf of the Company to execute bonds, undertakings; recognizances and other contracts of indemnity and writings obligatory in the nature thereof, and to attach thereto the corporate seat of the Company, in the transaction of its surety business,

"RESOLVED, that the signatures and aftestations of such officers and the seal of the Company may be affixed to any such Power of Attorney or to any certificate relating thereto by facsimile, and any such Power of Attorney or certificate bearing such facsimile signatures or facsimile seal shall be valid and binding upon the Company when so affixed with respect to any bond, undertaking, recognizance or other contract of indemnity or writing obligatory in the nature thereof

"RESOLVED, that the facsimile or mechanically reproduced signature of the Secretary of the Company, whether made heretofore or hereafter, wherever appearing upon a copy of any Power of Attorney of the Company, with signatures affixed as next above noted, shall be valid and binding upon the Company with the same force and effect as though manually affixed.

"RESOLVED; that any such Attorney-in-Fact delivering a secretarial certification that the foregoing resolutions still be in effect may insert in. such certification the date thereof, said date to be not later than the date of delivery thereof by such Attorney-in-Fact."

I, Elizabeth M. Tuck, Secretary of the New Hampshire Insurance Company, do hereby certify that the foregoing excerpts of Resolution adopted by the Board of Directors of this corporation, and the Power of Attorney issued pursuant thereto, are true and correct, and that both the Resolution and the Power of Attorney are in full force and effect.

IN WITNESS WHEREOF, I have hereunto set my hand and affixed the facsimile seal of the corporation

Elizabeth Tuck, Secretary

This 24 day of 304, 2007

New Hampshire Insurance Company

Executive Offices 70 Pine Street New York, NY 10270

STATUTORY FINANCIAL STATEMENT

as of DECEMBER 31, 2006

ASSETS	LIABILITIES	
Bonds 1,977,538,699	Reserve for Losses and Loss Expense	1,745,751,385
Stocks 579,904,241	Reserve for Unearned Premiums	579,456,578
Collateral Loans	Reserve for Expenses, Taxes,	
Cash & Short-Term Investments 50,749,214	Licenses and Fees	24,856,509
Agents' Balances or Uncollected Premiums 110,234,750	Provision for Reinsurance	17,771,509
Funds Held by Ceding Reinsurers 1,902,083	Funds Held Under Reinsurance	
Reinsurance Recoverable on Loss Payments. 67,657,669	Treaties	31,527,878
Equities & Deposits in Pools & Associations. 119,252,007	Other Liabilities	572,529,625
Other Admitted Assets 1,093,941,773	Capital Stock	5,325,085
	Surplus	1,023,961,887
	TOTAL POLICYHOLDERS	
TOTAL ASSETS	SURPLUS	1,029,286,952
	TOTAL LIABILITIES AND	
	POLICYHOLDERS' SURPLUS	4,001,180,436

Bonds and stocks are valued in accordance with the basis adopted by the National Association of Insurance Commissioners. Securities carried at \$162,013,877 in the above statement are deposited as required by law or otherwise pledged.

CERTIFICATE

Kristian P. Moor, President, and Richard T. Pisano, Comptroller, of New Hampshire Insurance Company being duly sworn, each for himself deposes and says that they are the above described officers of the said Company and that on the 31st day of December, 2006, the Company actually possessed the assets set forth in the foregoing statement and that such assets were available for the payment of losses and claims and held for the protection of its policyholders and creditors, except as hereinbefore indicated, and that the foregoing statement is a correct exhibit of such assets and liabilities of said Company on the 31st day of December, 2006, according to the best of their information, knowledge and belief respectively.

President

Comptroller

STATE OF NEW YORK COUNTY OF NEW YORK

} ss.:

On this ___ day of April 20, 2007, before me came the above named officers of New Hampshire insurance Company to me known to be the individuals and officers described herein, and acknowledged that they executed the foregoing instrument and affixed the seal of said corporation thereto by authority of their office.

56519 (3/03)